

On the C^1 -Norm of the Hermite Interpolation Operator

BERND STEINHAUS

*Department of Mathematics, University of Duisburg,
4100 Duisburg, West Germany*

Communicated by Oved Shisha

Received July 24, 1984; revised March 19, 1985

DEDICATED TO THE MEMORY OF GÉZA FREUD

1. INTRODUCTION

Consider the interval $I = [-1, 1]$ and the space $C^1(I)$ consisting of the continuously differentiable real-valued functions on I provided with the C^1 -norm

$$\|f\|_1 := \max\{\|f\|, \|f'\|\}, \tag{1}$$

where $\|\cdot\|$ denotes the Chebyshev norm on I and f' is the first derivative of $f \in C^1(I)$. We use the Chebyshev nodes of the first kind

$$x_i := \cos y_i := \cos \frac{2i+1}{2n+2} \pi, \quad 0 \leq i \leq n, \tag{2}$$

to construct a Hermite interpolation operator

$$H_n: C^1(I) \rightarrow \Pi_{2n+1}. \tag{3}$$

Pottinger examined the operator norm of H_n induced by (1):

$$\begin{aligned} \|H_n\|_1 &:= \max\left\{ \sup_{\substack{f \in C^1(I) \\ \|f\|_1 = 1}} \|H_n f\|, \sup_{\substack{f \in C^1(I) \\ \|f\|_1 = 1}} \|(H_n f)'\| \right\} \\ &=: \max\{\|H_n\|_0^*, \|H_n\|_1^*\}. \end{aligned}$$

He proved

$$\|H_n\|_1 \geq 2n - 4 \quad [4],$$

$$\|H_n\|_0^* \leq 5, \quad \|H_n\|_1 = O(n) \quad (n \rightarrow \infty) \quad [5, 6].$$

In the present paper we give the exact rate of growth of $\|H_n\|_1$; namely, we prove the

THEOREM. *For the C^1 -norm of the Hermite interpolation operator H_n based on the zeros of the Chebyshev polynomials of the first kind, the following inequality holds:*

$$4(n + 1) - 5 + \frac{2}{n + 1} \leq \|H_n\|_1 \leq 4(n + 1) + \frac{14}{\pi} \ln(n + 1) + 13.$$

2. SOME ESTIMATES

The Hermite interpolation operator (3) is given by

$$H_n f(x) = \sum_{i=0}^n v_i(x) l_i^2(x) f(x_i) + \sum_{i=0}^n (x - x_i) l_i^2(x) f'(x_i)$$

with

$$v_i(x) = 1 - \frac{\omega''(x_i)}{\omega'(x_i)} (x - x_i), \quad 0 \leq i \leq n, \tag{4}$$

and

$$l_i(x) = \frac{\omega(x)}{(x - x_i) \omega'(x_i)}, \quad 0 \leq i \leq n,$$

where $\omega(x) := \prod_{i=0}^n (x - x_i)$ denotes the nodal polynomial.

Let us first mention a result of Fejér [2]:

LEMMA 1. *For the functions given by (4), we have*

$$\sum_{i=0}^n v_i(x) \equiv (n + 1)^2.$$

From now on we use only the special nodes (2) for which

$$v_i(x) = 1 - \frac{x_i}{1 - x_i^2} (x - x_i) = \frac{1 - xx_i}{1 - x_i^2}, \tag{5}$$

$$l_i(x) = \frac{(-1)^i \sin y_i \cos(n + 1) y}{n + 1 \cos y - \cos y_i},$$

$0 \leq i \leq n$, where $x = \cos y$, $y \in [0, \pi]$. Using Lemma 1, we have

COROLLARY 1. *For the Chebyshev nodes of the first kind, we have*

$$\sum_{i=0}^n \frac{1}{1-x_i} = (n+1)^2, \quad (6)$$

$$\sum_{i=0}^n \frac{1}{(1-x_i)^2} = \frac{2}{3}(n+1)^4 + \frac{1}{3}(n+1)^2. \quad (7)$$

Proof. Formula (6) follows immediately from (5) and Lemma 1 for $x = -1$. To prove (7), we take $1 = \pi_0(x) = H_n \pi_0(x)$ and find

$$\begin{aligned} 0 &= (H_n \pi_0)'(1) \\ &= \left\{ 2 + \frac{1}{(n+1)^2} \right\} \sum_{i=0}^n \frac{1}{1-x_i} - \frac{3}{(n+1)^2} \sum_{i=0}^n \frac{1}{(1-x_i)^2}. \end{aligned}$$

Using (6), we get the desired result. ■

LEMMA 2. *The following estimates hold for the functions $A_n, B_n, C_n \in C(I)$ below:*

$$\begin{aligned} A_n(x) &:= \sum_{i=0}^n \left| \frac{\sin(n+1)y}{\sin y} \sin y_i l_i(x) \right|, \\ \|A_n\| &\leq (n+1) + \left\{ \frac{2}{\pi} \ln(n+1) + 1 \right\}; \end{aligned} \quad (8)$$

$$\begin{aligned} B_n(x) &:= \sum_{i=0}^n \left| \frac{\cos y_i}{\sin^2 y_i} (x-x_i) l_i^2(x) \right|, \\ \|B_n\| &\leq \frac{2}{\pi} \ln(n+1) + 1; \end{aligned} \quad (9)$$

$$\begin{aligned} C_n(x) &:= \sum_{i=0}^n \left| \frac{\sin(n+1)y}{(n+1)\sin y} \frac{1-\cos y \cos y_i}{\cos y - \cos y_i} \cos(n+1)y \right|, \\ \|C_n\| &\leq (n+1) + 2 \left\{ \frac{2}{\pi} \ln(n+1) + 1 \right\}. \end{aligned} \quad (10)$$

Proof. As $A_n(x_i) = 1$, $0 \leq i \leq n$, let $x \neq x_i$.

Case 1. If $\sin y \leq (n+1)^{-1/2}$, then

$$A_n(x) \leq (n+1)^{1/2} \sum_{i=0}^n |l_i(x)| \leq (n+1)^{1/2} \left\{ \frac{2}{\pi} \ln(n+1) + 1 \right\}.$$

Concerning the estimate of the Lebesgue constant, see Rivlin [7].

Case 2. For $\sin y > (n + 1)^{-1/2}$, we get ($x \neq x_i$)

$$\begin{aligned} A_n(x) &= \frac{1}{n+1} \sum_{i=0}^n \frac{|\sin(n+1)y|}{\sin y} \sin^2 y_i \left| \frac{\cos(n+1)y}{\cos y - \cos y_i} \right| \\ &\leq \frac{1}{n+1} \sum_{i=0}^n \frac{|\sin(n+1)y|}{\sin y} (\sin y_i |\sin y_i - \sin y| \\ &\quad + \sin y_i \sin y) \left| \frac{\cos(n+1)y}{\cos y - \cos y_i} \right| \\ &\leq \sum_{i=0}^n \sin y_i \left| \frac{\sin y_i - \sin y}{\cos y - \cos y_i} \right| + \sum_{i=0}^n |l_i(x)| \\ &\leq \sum_{i=0}^n (\sin y_i + \sin y) \left| \frac{\sin y_i - \sin y}{\cos y - \cos y_i} \right| + \sum_{i=0}^n |l_i(x)| \\ &= \sum_{i=0}^n |\cos y + \cos y_i| + \sum_{i=0}^n |l_i(x)| \\ &\leq (n+1) + \left\{ \frac{2}{\pi} \ln(n+1) + 1 \right\}. \end{aligned}$$

As $(n+1) |\sin y_i| \geq (n+1) \sin y_0 \geq (n+1)(2/\pi) y_0 = 1$, we obtain (9):

$$B_n(x) \leq \frac{1}{(n+1) \sin y_0} \sum_{i=0}^n |l_i(x)| \leq \frac{2}{\pi} \ln(n+1) + 1.$$

To prove (10), we substitute

$$\begin{aligned} 1 - \cos y \cos y_i &= \sin^2 y + \cos^2 y - \cos y \cos y_i - \sin y \sin y_i \\ &\quad + \sin y \sin y_i \\ &= \sin y (\sin y - \sin y_i) + \cos y (\cos y - \cos y_i) \\ &\quad + \sin y \sin y_i. \end{aligned}$$

By the triangle inequality

$$\begin{aligned} C_n(x) &\leq \sum_{i=0}^n |l_i(x)| + \sum_{i=0}^n \frac{|\sin(n+1)y|}{(n+1) \sin y} |\cos y \cos(n+1)y| \\ &\quad + \sum_{i=0}^n \frac{|\sin(n+1)y \cos(n+1)y|}{n+1} \left| \frac{\sin y - \sin y_i}{\cos y - \cos y_i} \right| \\ &\leq \sum_{i=0}^n |l_i(x)| + \sum_{i=0}^n 1 + \frac{1}{n+1} \sum_{i=0}^n \left| \cot \frac{y - y_i}{2} \right|. \end{aligned}$$

Combining this with the inequality

$$\sum_{i=0}^n |I_i(x)| = \frac{1}{n+1} \sum_{i=0}^n \cot \frac{y_i}{2} \geq \frac{1}{n+1} \sum_{i=0}^n \left| \cot \frac{y-y_i}{2} \right|$$

(cf. Ehlich and Zeller [1]) yields the desired result. ■

3. PROOF OF THE THEOREM

We first prove the lower estimate. To this end, we take a sufficiently small $\varepsilon > 0$ and a function $f_\varepsilon \in C^1(I)$ with the properties

$$f_\varepsilon(x_i) = -x_i - i\varepsilon, \quad 0 \leq i \leq n;$$

$$f'_\varepsilon(x_i) = 1, \quad 0 \leq i \leq n;$$

$$\|f_\varepsilon\|_1 = 1.$$

Then

$$\begin{aligned} \|H_n\|_1 &\geq \|H_n\|_1^* \geq |(H_n f_\varepsilon)'(1)| \\ &= \left| \sum_{i=0}^n (-x_i - i\varepsilon) \left[\left\{ 2 + \frac{1}{(n+1)^2} \right\} \frac{1}{1-x_i} - \frac{3}{(n+1)^2(1-x_i)^2} \right] \right. \\ &\quad \left. + \sum_{i=0}^n 1 \left\{ 2 \frac{\sin^2 y_i}{1-x_i} - \frac{\sin^2 y_i}{(n+1)^2(1-x_i)^2} \right\} \right| \\ &= \left| \varepsilon S - \left\{ 2 + \frac{1}{(n+1)^2} \right\} \sum_{i=0}^n \frac{x_i}{1-x_i} + \frac{3}{(n+1)^2} \sum_{i=0}^n \frac{x_i}{(1-x_i)^2} \right. \\ &\quad \left. + 2 \sum_{i=0}^n (1+x_i) - \frac{1}{(n+1)^2} \sum_{i=0}^n \frac{1+x_i}{1-x_i} \right| \\ &= \left| \varepsilon S + \left\{ 2 + \frac{1}{(n+1)^2} \right\} \sum_{i=0}^n \left(1 - \frac{1}{1-x_i} \right) \right. \\ &\quad \left. - \frac{3}{(n+1)^2} \left\{ \sum_{i=0}^n \frac{1-x_i}{(1-x_i)^2} - \sum_{i=0}^n \frac{1}{(1-x_i)^2} \right\} \right. \\ &\quad \left. + 2(n+1) + \frac{1}{(n+1)^2} \sum_{i=0}^n \left(1 - \frac{2}{1-x_i} \right) \right|. \end{aligned}$$

Let $\varepsilon \rightarrow 0+$. By Corollary 1

$$\begin{aligned} \|H_n\|_1 &\geq \left| \left\{ 2 + \frac{1}{(n+1)^2} \right\} \{ (n+1) - (n+1)^2 \} \right. \\ &\quad \left. - \frac{3}{(n+1)^2} \left\{ (n+1)^2 - \frac{2}{3}(n+1)^4 - \frac{1}{3}(n+1)^2 \right\} \right. \\ &\quad \left. + 2(n+1) + \frac{1}{(n+1)^2} \{ (n+1) - 2(n+1)^2 \} \right| \\ &= 4(n+1) - 5 + \frac{2}{n+1}. \end{aligned}$$

To prove the upper estimate, we use Pottinger's relation [5, 6]

$$\begin{aligned} (H_n f)'(x) &= \sum_{i=0}^n \{ v_i'(x) l_i^2(x) + 2v_i(x) l_i(x) l_i'(x) \} \int_x^{x_i} f'(s) ds \\ &\quad + \sum_{i=0}^n \{ l_i^2(x) + 2(x-x_i) l_i(x) l_i'(x) \} f'(x_i). \end{aligned}$$

Let $f \in C^1(I)$ satisfy $\|f\|_1 = 1$, so that $\|f'\| \leq 1$. By Lemma 2,

$$\begin{aligned} |(H_n f)'(x)| &\leq \sum_{i=0}^n | \{ v_i'(x) l_i^2(x) + 2v_i(x) l_i(x) l_i'(x) \} (x-x_i) | \\ &\quad + \sum_{i=0}^n | l_i^2(x) + 2(x-x_i) l_i(x) l_i'(x) | \\ &= \sum_{i=0}^n \left| \frac{\cos y_i}{\sin^2 y_i} (x-x_i) l_i^2(x) - 2l_i^2(x) \right. \\ &\quad \left. + 2 \frac{\sin(n+1)y}{(n+1)\sin y} \frac{1-\cos y \cos y_i}{\cos y - \cos y_i} \cos(n+1)y \right| \\ &\quad + \sum_{i=0}^n \left| -l_i^2(x) + 2 \frac{\sin y_i \sin(n+1)y}{\sin y} l_i^2(x) \right| \\ &\leq 2A_n(x) + B_n(x) + 2C_n(x) + 3 \sum_{i=0}^n l_i^2(x) \\ &\leq 4(n+1) + 7 \left\{ \frac{2}{\pi} \ln(n+1) + 1 \right\} + 6, \end{aligned}$$

since $\sum_{i=0}^n l_i^2(x) \leq 2$. The proof is complete since $\|H_n\|_1^* \leq 5$ (Pottinger [5, 6]). ■

REFERENCES

1. H. EHLICH AND K. ZELLER, Auswertung der Normen von Interpolationsoperatoren, *Math. Ann.* **164** (1966), 105–112.
2. L. FEJÉR, Über einige Identitäten der Interpolationstheorie und ihre Anwendungen zur Bestimmung kleinster Maxima, *Acta Sci. Math.* **5** (1932), 145–153.
3. I. P. NATANSON, “Constructive Function Theory,” Vol. III, Ungar, New York, 1965.
4. P. POTTINGER, Zur Hermite-Interpolation, *Z. Angew. Math. Mech.* **56** (1976), T310–T311.
5. P. POTTINGER, “Zur linearen Approximation im Raum $C^k(I)$,” Habilitationsschrift, Duisburg, 1976.
6. P. POTTINGER, On the approximation of functions and their derivatives by Hermite interpolation, *J. Approx. Theory* **23** (1978), 267–273.
7. T. J. RIVLIN, “The Chebyshev Polynomials,” Wiley, New York, 1974.